pul

E

At AA =9 v

AFA F2A A
of MAHAAY A= A

go)e] A
kel
%

°
pad

7t e

[}

;(H |

F= Aol et o]

S

o)

=

ba FaAe) W
=

<]

N

-

23!

!
o
o

plo

R4

3k 7FA A}

2

Ly
[€]

=4

&
(Trx7E §)

=
e

O ARA]

i
j =4

2
7F 7]

°
HALA]

9
]

>3

=7

J

%3

=
=
A

7}
3

- FAYEAND AR,

.]

- SAP2000, ETABS

gk

[}

|
3

O
O
O



149 7 %

3|

O

0
on
To

i

!
s

o
ot

AdETEE)

14 Ael1.(

5]

> TE

O Me

7
gl

i
ol

o}

<]
|

i
ol

ZO
T
1)
™
el

0

u
N

L

-

i
ol
=T
HAI
R

o)
0
B

ga AviRe AEHATRER T4

A

B

ZO
T
1)

—
o

Tjo

T

B

alo

sheieh,

AA =

AeTxE

12990

3|

ttl

K

e

Nd
Nfo

—
o

35 (7))

R

S

- A

o
Nfo

o

Ho

b

o

AR

S

- A

o
Nfo
e

H
ol

b

o

AR

S

- A



+

I

ﬁﬁ%ﬁ f?-f " *Il’
% "*:’:" 73 4
‘ 'ih 3 M __K

?‘ﬂ%o L(ft, fc fh)l 3t
% R)ZA SR<1eo]® <3t

'?.4 % ‘«V

9 <1.0 or SR.2 =

'Nr

‘““i’fl\

..—- 'l'"“

;ﬁ

N\
4

E
}—A
V
=)
>
t
)
ot
o)
_O|L
of

‘-Fﬂi-“.

“'r %w*\\

J\‘
!

i))



SR LEE!
FEYL FrE TROAY A=A

of thah 254 W @A A

GE-1> FAEHE Ay

ELE. MEMBER LENGTH LOAD SR1 S.R2 (Fc) H| 3L
637 SEC=2A111 .000 DLW 1.56 - .61 NG
637 SEC=2A111 2.400 DLW 1.61 - .61 NG
637 SEC=2A111 4.800 DLW 1.56 - .61 NG
645 SEC=2A111 .000 DLW 1.11 - A8 NG
645 SEC=2A111 2.700 DLW 1.19 - A8 NG
645 SEC=2A111 5.400 DLW 1.10 - A8 NG
664 SEC=2A111 .000 DLW 1.15 - A8 NG
664 SEC=2A111 2.700 DLW 1.23 - A8 NG
664 SEC=2A111 5.400 DLW 1.14 - A8 NG
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<HE-2> FAEAE A3

FRAME MEMBER LENGTH LOAD FORCE SR() SR(M) COMMENT
1 E SEC=4AG2 200 DL 1.39 66 45 OK
1 C SEC=4AG2 1.580 DL 1.39 49 26 OK
1 E SEC=4AG2 2.950 DL 1.39 19 64 OK
2 E SEC=4AG2 150 DL 1.41 22 64 OK
2 C SEC=4AG2 1.530 DL 1.41 52 23 OK
2 E SEC=4AG2 2.900 DL 1.41 68 o1 OK
120 E SEC=7RG7 200 DL -19.37 1.74 14 NG
120 C SEC=7RG7 570 DL -19.37 1.75 46 NG
120 E SEC=7RG7 950 DL -19.37 1.76 79 NG
122 E SEC=7RG7 200 DL -19.41 1.68 18 NG
122 C SEC=7RG7 570 DL -19.41 1.69 49 NG
122 E SEC=7RG7 950 DL -19.41 1.70 .80 NG
O AE 43

TEAEAY, <F-2>0Ae Fo] FAMSE 120, 1229 F-AolA

thn] 3SR (SR(V)7ZF 1.68~1.75= 2F&3t5] ¢

b A =7 WstE-s AEste] Eehdd Aoz ygyoenz o
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